# Generalized Bell polynomials and the combinatorics of Poisson central moments 

Nicolas Privault<br>Division of Mathematical Sciences<br>School of Physical and Mathematical Sciences<br>Nanyang Technological University<br>SPMS-MAS, 21 Nanyang Link<br>Singapore 637371<br>nprivault@ntu.edu.sg

Submitted: Jul 13, 2010; Accepted: Feb 26, 2011; Published: Mar 11, 2011
Mathematics Subject Classifications: 11B73, 60E07


#### Abstract

We introduce a family of polynomials that generalizes the Bell polynomials, in connection with the combinatorics of the central moments of the Poisson distribution. We show that these polynomials are dual of the Charlier polynomials by the Stirling transform, and we study the resulting combinatorial identities for the number of partitions of a set into subsets of size at least 2 .


## 1 Introduction

The moments of the Poisson distribution are well-known to be connected to the combinatorics of the Stirling and Bell numbers. In particular the Bell polynomials $B_{n}(\lambda)$ satisfy the relation

$$
\begin{equation*}
B_{n}(\lambda)=E_{\lambda}\left[Z^{n}\right], \quad n \in \mathbb{N} \tag{1.1}
\end{equation*}
$$

where $Z$ is a Poisson random variable with parameter $\lambda>0$, and

$$
\begin{equation*}
B_{n}(1)=\sum_{c=0}^{n} S(n, c) \tag{1.2}
\end{equation*}
$$

is the Bell number of order $n$, i.e. the number of partitions of a set of $n$ elements. In this paper we study the central moments of the Poisson distribution, and we show that they can be expressed using the number of partitions of a set into subsets of size at least 2 , in connection with an extension of the Bell polynomials.

Consider the above mentioned Bell (or Touchard) polynomials $B_{n}(\lambda)$ defined by the exponential generating function

$$
\begin{equation*}
e^{\lambda\left(e^{t}-1\right)}=\sum_{n=0}^{\infty} \frac{t^{n}}{n!} B_{n}(\lambda), \tag{1.3}
\end{equation*}
$$

$\lambda, t \in \mathbb{R}$, cf. e.g. $\S 11.7$ of [4], and given by the Stirling transform

$$
\begin{equation*}
B_{n}(\lambda)=\sum_{c=0}^{n} \lambda^{c} S(n, c) \tag{1.4}
\end{equation*}
$$

where

$$
\begin{equation*}
S(n, c)=\frac{1}{c!} \sum_{l=0}^{c}(-1)^{c-l}\binom{c}{l} l^{n} \tag{1.5}
\end{equation*}
$$

denotes the Stirling number of the second kind, i.e. the number of ways to partition a set of $n$ objects into $c$ non-empty subsets, cf. $\S 1.8$ of [7], Proposition 3.1 of [3] or $\S 3.1$ of [6], and Relation (1.2) above.

In this note we define a two-parameter generalization of the Bell polynomials, which is dual to the Charlier polynomials by the Stirling transform. We study the links of these polynomials with the combinatorics of Poisson central moments, cf. Lemma 3.1, and as a byproduct we obtain the binomial identity

$$
\begin{equation*}
S_{2}(m, n)=\sum_{k=0}^{n}(-1)^{k}\binom{m}{k} S(m-k, n-k) \tag{1.6}
\end{equation*}
$$

where $S_{2}(n, a)$ denotes the number of partitions of a set of size $n$ into $a$ subsets of size at least 2 , cf. Corollary 3.2 below, which is the binomial dual of the relation

$$
S(m, n)=\sum_{k=0}^{n}\binom{m}{k} S_{2}(m-k, n-k)
$$

cf. Proposition 3.3 below.
We proceed as follows. Section 2 contains the definition of our extension of the Bell polynomials. In Section 3 we study the properties of the polynomials using the Poisson central moments, and we derive Relation (1.6) as a corollary. Finally in Section 4 we state the connection between these polynomials and the Charlier polynomials via the Stirling transform.

## 2 An extension of the Bell polynomials

We let $\left(B_{n}(x, \lambda)\right)_{n \in \mathbb{N}}$ denote the family of polynomials defined by the exponential generating function

$$
\begin{equation*}
e^{t y-\lambda\left(e^{t}-t-1\right)}=\sum_{n=0}^{\infty} \frac{t^{n}}{n!} B_{n}(y, \lambda), \quad \lambda, y, t \in \mathbb{R} . . \tag{2.1}
\end{equation*}
$$

Clearly from (1.3) and (2.1), the definition of $B_{n}(x, \lambda)$ generalizes that of the Bell polynomials $B_{n}(\lambda)$, in that

$$
\begin{equation*}
B_{n}(\lambda)=B_{n}(\lambda,-\lambda), \quad \lambda \in \mathbb{R} \tag{2.2}
\end{equation*}
$$

When $\lambda>0$, Relation (2.1) can be written as

$$
e^{t y} E_{\lambda}\left[e^{t(Z-\lambda)}\right]=\sum_{n=0}^{\infty} \frac{t^{n}}{n!} B_{n}(y,-\lambda), \quad y, t \in \mathbb{R},
$$

which yields the relation

$$
\begin{equation*}
B_{n}(y,-\lambda)=E_{\lambda}\left[(Z+y-\lambda)^{n}\right], \quad \lambda, y \in \mathbb{R}, \quad n \in \mathbb{N}, \tag{2.3}
\end{equation*}
$$

which is analog to (1.1), and shows the following proposition.
Proposition 2.1 For all $n \in \mathbb{N}$ we have

$$
\begin{equation*}
B_{n}(y, \lambda)=\sum_{k=0}^{n}\binom{n}{k}(y-\lambda)^{n-k} \sum_{i=0}^{k} \lambda^{i} S(k, i), \quad y, \lambda \in \mathbb{R}, \quad n \in \mathbb{N} . \tag{2.4}
\end{equation*}
$$

Proof. Indeed, by (2.3) we have

$$
\begin{aligned}
B_{n}(y,-\lambda) & =E_{\lambda}\left[(Z+y-\lambda)^{n}\right], \\
& =\sum_{k=0}^{n}\binom{n}{k}(y-\lambda)^{n-k} E_{\lambda}\left[Z^{k}\right] \\
& =\sum_{k=0}^{n}\binom{n}{k}(y-\lambda)^{n-k} B_{k}(\lambda) \\
& =\sum_{k=0}^{n}\binom{n}{k}(y-\lambda)^{n-k} \sum_{i=0}^{k} \lambda^{i} S(k, i), \quad y, \lambda \in \mathbb{R} .
\end{aligned}
$$

## 3 Combinatorics of the Poisson central moments

As noted in (1.1) above, the connection between Poisson moments and polynomials is well understood, however the Poisson central moments seem to have received less attention.

In the sequel we will need the following lemma, which expresses the central moments of a Poisson random variable using the number $S_{2}(n, b)$ of partitions of a set of size $n$ into $b$ subsets with no singletons.

Lemma 3.1 Let $Z$ be a Poisson random variable with intensity $\lambda>0$. We have

$$
\begin{equation*}
B_{n}(0,-\lambda)=E_{\lambda}\left[(Z-\lambda)^{n}\right]=\sum_{a=0}^{n} \lambda^{a} S_{2}(n, a), \quad n \in \mathbb{N} \tag{3.1}
\end{equation*}
$$

Proof. We start by showing the recurrence relation

$$
\begin{equation*}
E_{\lambda}\left[(Z-\lambda)^{n+1}\right]=\lambda \sum_{i=0}^{n-1}\binom{n}{i} E_{\lambda}\left[(Z-\lambda)^{i}\right], \quad n \in \mathbb{N} \tag{3.2}
\end{equation*}
$$

for $Z$ a Poisson random variable with intensity $\lambda$. We have

$$
\begin{aligned}
E_{\lambda}\left[(Z-\lambda)^{n+1}\right] & =e^{-\lambda} \sum_{k=0}^{\infty} \frac{\lambda^{k}}{k!}(k-\lambda)^{n+1} \\
& =e^{-\lambda} \sum_{k=1}^{\infty} \frac{\lambda^{k}}{(k-1)!}(k-\lambda)^{n}-\lambda e^{-\lambda} \sum_{k=0}^{\infty} \frac{\lambda^{k}}{k!}(k-\lambda)^{n} \\
& =\lambda e^{-\lambda} \sum_{k=0}^{\infty} \frac{\lambda^{k}}{k!}\left((k+1-\lambda)^{n}-(k-\lambda)^{n}\right) \\
& =\lambda e^{-\lambda} \sum_{k=0}^{\infty} \frac{\lambda^{k}}{k!} \sum_{i=0}^{n-1}\binom{n}{i}(k-\lambda)^{i} \\
& =\lambda e^{-\lambda} \sum_{i=0}^{n-1}\binom{n}{i} \sum_{k=0}^{\infty} \frac{\lambda^{k}}{k!}(k-\lambda)^{i} \\
& =\lambda \sum_{i=0}^{n-1}\binom{n}{i} E_{\lambda}\left[(Z-\lambda)^{i}\right] . .
\end{aligned}
$$

Next, we show that the identity

$$
\begin{equation*}
E_{\lambda}\left[(Z-\lambda)^{n}\right]=\sum_{a=1}^{n-1} \lambda^{a} \sum_{0=k_{1} \ll \cdots \ll k_{a+1}=n} \prod_{l=1}^{a}\binom{k_{l+1}-1}{k_{l}} \tag{3.3}
\end{equation*}
$$

holds for all $n \geq 1$, where $a \ll b$ means $a<b-1$. Note that the degree of (3.3) in $\lambda$ is the largest integer $d$ such that $2 d \leq n$, hence it equals $n / 2$ or $(n-1) / 2$ according to the parity of $n$.

Clearly, the identity (3.3) is valid when $n=1$ and when $n=2$. Assuming that it holds up to the rank $n \geq 2$, from (3.2) we have

$$
\begin{aligned}
E_{\lambda}\left[(Z-\lambda)^{n+1}\right] & =\lambda \sum_{k=0}^{n-1}\binom{n}{k} E_{\lambda}\left[(Z-\lambda)^{k}\right] \\
& =\lambda+\lambda \sum_{k=1}^{n-1}\binom{n}{k} E_{\lambda}\left[(Z-\lambda)^{k}\right] \\
& =\lambda+\lambda \sum_{k=1}^{n-1}\binom{n}{k} \sum_{b=1}^{k-1} \lambda^{b} \sum_{0=k_{1} \ll \cdots \ll k_{b+1}=k} \prod_{l=1}^{b}\binom{k_{l+1}-1}{k_{l}}
\end{aligned}
$$

$$
\begin{aligned}
& =\lambda+\lambda \sum_{k=1}^{n-1}\binom{n}{k} \sum_{b=2}^{k} \lambda^{b-1} \sum_{0=k_{1} \ll \cdots<k_{b}=k} \prod_{l=1}^{b-1}\binom{k_{l+1}-1}{k_{l}} \\
& \left.=\lambda+\lambda \sum_{k_{b}=1}^{n-1}\binom{n}{k_{b}} \sum_{b=2}^{k_{b}} \lambda^{b-1} \sum_{0=k_{1} \ll \cdots \ll k_{b}}^{b-1} \prod_{l=1}^{k_{l+1}-1} \begin{array}{c}
k_{l} \\
k_{l}
\end{array}\right) \\
& =\lambda+\lambda \sum_{k_{b}=1}^{n-1} \sum_{b=2}^{k_{b}} \lambda^{b-1} \sum_{0=k_{1} \ll \cdots \ll k_{b} \ll k_{b+1}=n}^{b}\binom{k_{l+1}-1}{k_{l}} \\
& =\lambda+\lambda \sum_{k_{b}=1}^{n} \sum_{b=2}^{k_{b}} \lambda^{b-1} \sum_{0=k_{1} \ll \cdots \ll k_{b} \ll k_{b+1}=n}^{b}\binom{k_{l+1}-1}{k_{l}} \\
& =\lambda+\sum_{b=2}^{n} \lambda^{b} \sum_{0=k_{1} \ll \cdots \ll k_{b+1}=n+1}^{b}\binom{k_{l+1}-1}{k_{l}} \\
& =\sum_{b=1}^{n} \lambda^{b}\binom{k_{l+1}-1}{k_{l}}
\end{aligned}
$$

and it remains to note that

$$
\begin{equation*}
\sum_{0=k_{1} \ll \cdots<k_{b+1}=n} \prod_{l=1}^{b}\binom{k_{l+1}-1}{k_{l}}=S_{2}(n, b) \tag{3.4}
\end{equation*}
$$

equals the number $S_{2}(n, b)$ of partitions of a set of size $n$ into $b$ subsets of size at least 2. Indeed, any contiguous such partition is determined by a sequence of $b-1$ integers $k_{2}, \ldots, k_{b}$ with $2 b \leq n$ and $0 \ll k_{2} \ll \cdots \ll k_{b} \ll n$ so that subset $\mathrm{n}^{o} i$ has size $k_{i+1}-k_{i} \geq 2, i=1, \ldots, b$, with $k_{b+1}=n$, and the number of not necessarily contiguous partitions of that size can be computed inductively on $i=1, \ldots, b$ as

$$
\binom{n-1}{n-1-k_{b}}\binom{k_{b}-1}{k_{b}-1-k_{b-1}} \cdots\binom{k_{2}-1}{k_{2}-1-k_{1}}=\prod_{l=1}^{b}\binom{k_{l+1}-1}{k_{l}} . .
$$

For this, at each step we pick an element which acts as a boundary point in the subset $\mathrm{n}^{o} i$, and we do not count it in the possible arrangements of the remaining $k_{i+1}-1-k_{i}$ elements among $k_{i+1}-1$ places.
Lemma 3.1 and (3.4) can also be recovered by use of the cumulants $\left(\kappa_{n}\right)_{n \geq 1}$ of $Z-\lambda$, defined from the cumulant generating function

$$
\log E_{\lambda}\left[e^{t(Z-\lambda)}\right]=\lambda\left(e^{t}-1\right)=\sum_{n=1}^{\infty} \kappa_{n} \frac{t^{n}}{n!},
$$

i.e. $\kappa_{1}=0$ and $\kappa_{n}=\lambda, n \geq 2$, which shows that

$$
E_{\lambda}\left[(Z-\lambda)^{n}\right]=\sum_{a=1}^{n} \sum_{B_{1}, \ldots, B_{a}} \kappa_{\left|B_{1}\right|} \cdots \kappa_{\left|B_{a}\right|},
$$

where the sum runs over the partitions $B_{1}, \ldots, B_{a}$ of $\{1, \ldots, n\}$ with cardinal $\left|B_{i}\right|$ by the Faà di Bruno formula, cf. § 2.4 of [5]. Since $\kappa_{1}=0$ the sum runs over the partitions with cardinal $\left|B_{i}\right|$ at least equal to 2 , which recovers

$$
\begin{equation*}
E_{\lambda}\left[(Z-\lambda)^{n}\right]=\sum_{a=1}^{n} \lambda^{a} S_{2}(n, a) \tag{3.5}
\end{equation*}
$$

and provides another proof of (3.4). In addition, (3.2) can be seen as a consequence of a general recurrence relation between moments and cumulants, cf. Relation (5) of [8].

In particular when $\lambda=1$, (3.1) shows that the central moment

$$
\begin{equation*}
B_{n}(0,-1)=E_{1}\left[(Z-1)^{n}\right]=\sum_{a=0}^{n} S_{2}(n, a) \tag{3.6}
\end{equation*}
$$

is the number of partitions of a set of size $n$ into subsets of size at least 2, as a counterpart to (1.2).

By (2.3) we have

$$
B_{n}(y, \lambda)=\sum_{k=0}^{n}\binom{n}{k} y^{n-k} E_{\lambda}\left[(Z-\lambda)^{k}\right]=\sum_{k=0}^{n}\binom{n}{k} y^{n-k} B_{k}(0,-\lambda)
$$

$y \in \mathbb{R}, \lambda>0, n \in \mathbb{N}$, hence Lemma 3.1 shows that we have

$$
\begin{equation*}
B_{n}(y, \lambda)=\sum_{l=0}^{n}\binom{n}{l} y^{n-l} \sum_{c=0}^{l} \lambda^{c} S_{2}(l, c), \quad \lambda, y \in \mathbb{R}, \quad n \in \mathbb{N} . . \tag{3.7}
\end{equation*}
$$

As a consequence of Relations (2.4) and (3.7) we obtain the following binomial identity.
Corollary 3.2 We have

$$
\begin{equation*}
S_{2}(n, c)=\sum_{k=0}^{c}(-1)^{k}\binom{n}{k} S(n-k, c-k), \quad 0 \leq c \leq n \tag{3.8}
\end{equation*}
$$

Proof. By Relation (2.4) we have

$$
\begin{aligned}
B_{n}(y, \lambda) & =\sum_{k=0}^{n}\binom{n}{k}(y-\lambda)^{k} \sum_{i=0}^{n-k} \lambda^{i} S(n-k, i) \\
& =\sum_{k=0}^{n}\binom{n}{k} \sum_{l=0}^{k}\binom{k}{l} y^{l}(-\lambda)^{k-l} \sum_{i=0}^{n-k} \lambda^{i} S(n-k, i) \\
& =\sum_{k=0}^{n} \sum_{l=0}^{k}\binom{n}{l}\binom{n-l}{n-k} y^{l}(-\lambda)^{k-l} \sum_{i=0}^{n-k} \lambda^{i} S(n-k, i)
\end{aligned}
$$

$$
\begin{aligned}
& =\sum_{l=0}^{n} \sum_{k=l}^{n}\binom{n}{l}\binom{n-l}{n-k} y^{l}(-\lambda)^{k-l} \sum_{i=0}^{n-k} \lambda^{i} S(n-k, i) \\
& =\sum_{l=0}^{n} \sum_{b=0}^{n-l}\binom{n}{l}\binom{n-l}{b} y^{l}(-\lambda)^{n-b-l} \sum_{i=0}^{b} \lambda^{i} S(b, i) \\
& =\sum_{l=0}^{n} \sum_{b=0}^{l}\binom{n}{l}\binom{l}{b} y^{n-l}(-\lambda)^{b} \sum_{i=0}^{l-b} \lambda^{i} S(l-b, i) \\
& =\sum_{l=0}^{n} \sum_{b=0}^{l}\binom{n}{l}\binom{l}{b} y^{n-l}(-\lambda)^{b} \sum_{c=b}^{l} \lambda^{c-b} S(l-b, c-b) \\
& =\sum_{l=0}^{n}\binom{n}{l} y^{n-l} \sum_{c=0}^{l} \lambda^{c} \sum_{b=0}^{c}(-1)^{b}\binom{l}{b} S(l-b, c-b), \quad y, \lambda \in \mathbb{R},
\end{aligned}
$$

and we conclude by Relation (3.7).
As a consequence of (3.7) and (3.8) we have the identity

$$
B_{n}(0,-\lambda)=E_{\lambda}\left[(Z-\lambda)^{n}\right]=\sum_{c=0}^{n} \lambda^{c} \sum_{a=0}^{c}(-1)^{a}\binom{n}{a} S(n-a, c-a),
$$

for the central moments of a Poisson random variable $Z$ with intensity $\lambda>0$.
The following proposition, which is the inversion formula of (3.8) has a natural interpretation by recalling that $S_{2}(m, b)$ is the number of partitions of a set of $m$ elements made of $b$ sets of cardinal greater or equal to 2 , as will be seen in Proposition 3.4 below.

Proposition 3.3 We have the combinatorial identity

$$
\begin{equation*}
S(n, b)=\sum_{l=0}^{b}\binom{n}{l} S_{2}(n-l, b-l), \quad b, n \in \mathbb{N} \tag{3.9}
\end{equation*}
$$

Proof. By Relation (3.7) we have

$$
\begin{aligned}
B_{n}(\lambda) & =B_{n}(\lambda,-\lambda) \\
& =\sum_{l=0}^{n}\binom{n}{l} \lambda^{n-l} \sum_{b=0}^{l} \lambda^{b} S_{2}(l, b) \\
& =\sum_{b=0}^{n} \lambda^{b} \sum_{l=0}^{b}\binom{n}{l} S_{2}(n-l, b-l),
\end{aligned}
$$

and we conclude from (1.4).
Relation (3.9) is in fact a particular case for $a=0$ of the identity proved in the next proposition, since $S(l-c, 0)=\mathbf{1}_{\{l=c\}}$.

Proposition 3.4 For all $a, b, n \in \mathbb{N}$ we have

$$
\binom{a+b}{a} S(n, a+b)=\sum_{c=0}^{b} \sum_{l=c}^{n}\binom{n}{l}\binom{l}{c} S(l-c, a) S_{2}(n-l, b-c) .
$$

Proof. The partitions of $\{1, \ldots, n\}$ made of $a+b$ subsets are labeled using all possibles values of $l \in\{0,1, \ldots, n\}$ and $c \in\{0,1, \ldots, l\}$, as follows. For every $l \in\{0,1, \ldots, n\}$ and $c \in\{0,1, \ldots, l\}$ we decompose $\{1, \ldots, n\}$ into

- a subset $\left(k_{1}, \ldots, k_{l}\right)$ of $\{1, \ldots, n\}$ with $\binom{n}{l}$ possibilities,
- $c$ singletons within $\left(k_{1}, \ldots, k_{l}\right)$, i.e. $\binom{l}{c}$ possibilities,
- a remaining subset of $\left(k_{1}, \ldots, k_{l}\right)$ of size $l-c$, which is partitioned into $a \in \mathbb{N}$ (non-empty) subsets, i.e. $S(l-c, a)$ possibilities, and
- a remaining set $\{1, \ldots, n\} \backslash\left(k_{1}, \ldots, k_{l}\right)$ of size $n-l$ which is partitioned into $b-c$ subsets of size at least 2, i.e. $S_{2}(n-l, b-c)$ possibilities.

In this process the $b$ subsets mentioned above were counted with their combinations within $a+b$ sets, which explains the binomial coefficient $\binom{a+b}{a}$ on the right-hand side.

## 4 Stirling transform

In this section we consider the Charlier polynomials $C_{n}(x, \lambda)$ of degree $n \in \mathbb{N}$, with exponential generating function

$$
e^{-\lambda t}(1+t)^{x}=\sum_{n=0}^{\infty} \frac{t^{n}}{n!} C_{n}(x, \lambda), \quad x, t, \lambda \in \mathbb{R}
$$

and

$$
\begin{equation*}
C_{n}(x, \lambda)=\sum_{k=0}^{n} x^{k} \sum_{l=0}^{k}\binom{n}{l}(-\lambda)^{n-l} s(k, l), \quad x, \lambda \in \mathbb{R} \tag{4.1}
\end{equation*}
$$

cf. $\S 3.3$ of [7], where

$$
s(k, l)=\frac{1}{l!} \sum_{i=0}^{l}(-1)^{i}\binom{l}{i}(l-i)^{k}
$$

is the Stirling number of the first kind, cf. page 824 of [1], i.e. $(-1)^{k-l} s(k, l)$ is the number of permutations of $k$ elements which contain exactly $l$ permutation cycles, $n \in \mathbb{N}$.

In the next proposition we show that the Charlier polynomials $C_{n}(x, \lambda)$ are dual to the generalized Bell polynomials $B_{n}(x-\lambda, \lambda)$ defined in (2.1) under the Stirling transform.

Proposition 4.1 We have the relations

$$
C_{n}(y, \lambda)=\sum_{k=0}^{n} s(n, k) B_{k}(y-\lambda, \lambda) \quad \text { and } \quad B_{n}(y, \lambda)=\sum_{k=0}^{n} S(n, k) C_{k}(y+\lambda, \lambda),
$$

$y, \lambda \in \mathbb{R}, n \in \mathbb{N}$.
Proof. For the first relation, for all fixed $y, \lambda \in \mathbb{R}$ we let

$$
A(t)=e^{-\lambda t}(1+t)^{y+\lambda}=\sum_{n=0}^{\infty} \frac{t^{n}}{n!} C_{n}(y+\lambda, \lambda), \quad t \in \mathbb{R},
$$

with

$$
A\left(e^{t}-1\right)=e^{t(y+\lambda)-\lambda\left(e^{t}-1\right)}=\sum_{n=0}^{\infty} \frac{t^{n}}{n!} B_{n}(y, \lambda), \quad t \in \mathbb{R}
$$

and we conclude from Lemma 4.2 below. The second part can be proved by inversion using Stirling numbers of the first kind, as

$$
\begin{aligned}
\sum_{k=0}^{n} S(n, k) C_{k}(y+\lambda, \lambda) & =\sum_{k=0}^{n} \sum_{l=0}^{k} S(n, k) s(k, l) B_{l}(y, \lambda) \\
& =\sum_{l=0}^{n} B_{l}(y, \lambda) \sum_{k=l}^{n} S(n, k) s(k, l) \\
& =B_{n}(y, \lambda),
\end{aligned}
$$

from the inversion formula

$$
\begin{equation*}
\sum_{k=l}^{n} S(n, k) s(k, l)=\mathbf{1}_{\{n=l\}}, \quad n, l \in \mathbb{N}, \tag{4.2}
\end{equation*}
$$

for Stirling numbers, cf. e.g. page 825 of [1].
Next we recall the following lemma, cf. e.g. Relation (3) page 2 of [2], which has been used in Proposition 4.1 to show that the polynomials $B_{n}(y, \lambda)$ are connected to the Charlier polynomials.

Lemma 4.2 Assume that the function $A(t)$ has the series expansion

$$
A(t)=\sum_{k=0}^{\infty} \frac{t^{k}}{k!} a_{k}, \quad t \in \mathbb{R}
$$

Then we have

$$
A\left(e^{t}-1\right)=\sum_{k=0}^{n} \frac{t^{k}}{k!} b_{k}, \quad t \in \mathbb{R}
$$

with

$$
b_{n}=\sum_{k=0}^{n} a_{k} S(n, k), \quad n \in \mathbb{N} .
$$

Finally we note that from (2.4) we have the relation

$$
B_{n}(y, y+\lambda)=\sum_{k=0}^{n}(y+\lambda)^{k} \sum_{l=k}^{n}\binom{n}{l}(-\lambda)^{n-l} S(l, k), \quad y, \lambda \in \mathbb{R}, \quad n \in \mathbb{N}
$$

which parallels (4.1).

## Acknowledgement

I thank an anonymous referee for useful suggestions. This research was supported by the grant GRF 102309 from the Research Grants Council of the Hong Kong Special Administrative Region of the People's Republic of China.

## References

[1] M. Abramowitz and I.A. Stegun. Handbook of mathematical functions with formulas, graphs, and mathematical tables, volume 55. Dover Publications, New York, 1972. 9th Edition.
[2] M. Bernstein and N. J. A. Sloane. Some canonical sequences of integers. Linear Algebra Appl., 226/228:57-72, 1995.
[3] K.N. Boyadzhiev. Exponential polynomials, Stirling numbers, and evaluation of some gamma integrals. Abstr. Appl. Anal., pages Art. ID 168672, 18, 2009.
[4] C.A. Charalambides. Enumerative combinatorics. CRC Press Series on Discrete Mathematics and its Applications. Chapman \& Hall/CRC, Boca Raton, FL, 2002.
[5] E. Lukacs. Characteristic functions. Hafner Publishing, New York, 1970. Second edition, revised and enlarged.
[6] E. Di Nardo and D. Senato. Umbral nature of the Poisson random variables. In Algebraic combinatorics and computer science, pages 245-266. Springer Italia, Milan, 2001.
[7] S. Roman. The umbral calculus, volume 111 of Pure and Applied Mathematics. Academic Press [Harcourt Brace Jovanovich Publishers], New York, 1984.
[8] P.J. Smith. A recursive formulation of the old problem of obtaining moments from cumulants and vice versa. Amer. Statist., 49(2):217-218, 1995.

